
1

STEP2： ,nstaOO armrest sFreZ

STEP3：,nstaOO armrest feet anG ZooOenmat

A B

A

F

H

J

I

B

C

D

E

YMX-35
Accessories list

Armrest(sitting sofa）

A

STEP1：,nstaOO tKe armrest SKone KoOGer

tKat sits on tKe rigKt armrest.

Right armrest(1)

A

Left armrest(1) (XL8009)Hardware(4) 606#  6*18 Screw(8) Sofa foot(2)

8*65 Screw(2) 8*17 Gasket(2) M5*105*55 Wrench(1)

Armrest

phone holder(1)

B C D E F

G H I J K

A B

STEP4： AssembOy FomSOeteG.

M4*100*40 Wrench(1)

60*60 Woolenmat(2)

C

D

E

G

G



2

Armrest feet,hawaeand and armrest phone holder brackets are placeG on the 
inneU side of the armrest base fabric.

A

A
B



1

IQVWDOO�HQG�WDEOH�IHHW�DQG�ZRROHQPDW,PuOO�RuW�WKH�SRZHU�FRUG�IURP�WKH
�ERWWRP�zLSSHU�SRFNHW

STEP1：
.

STEP3：

$VVHPEOy�FRPSOHWHG

A

B

C

E

D

A

YMX-35
Accessories list

End table

End table(1)

A

606#Sofa foot(4) 8*65 Screw(4) 8*17 Gasket(4) M5*105*55 Wrench(1)

B C D E F

（F-8944)

U connector(2) 60*60 Woolenmat(4)

G

G

A

STEP2：

EQG�WDEOH�IHHW�KDUGZDUH�LV�LQ�WKH�

HQG�WDEOH�IUDPHV.



2

A

A

STEP 4：Connect the sofa anG the edge with U connectoU hardware.

STEP 5： $ssembly completeG

F



STEP1：,QstaOO the RttRPaQ Ieet aQd 

ZRROeQPat

1

YMX-35
Accessories list

OTTOMAN

Ottoman frame(1)

A

606#Sofa foot(4) 8*65 Screw(4)

8*17 Gasket(4) M5*105*55 Wrench(1)

B C D E

Ottoman base plate(1) Ottoman cushion(1)

F G H I

B

A

A

C

STEP2：

pOaFe the Ease pOate tR RttRPaQ.

B

（F-8944)U FRQQeFtRr(2) 60*60 Woolenmat(4)

D

E

G

F

C

A

STEP3：

&Xt the FRPpressLRQ Eag

STEP4：

$ssePEOy FRPpOeted

A I



2

Sofa feet, hardware anG ottoman cushion are placeGin the ottoman frame.

X1

C

A

H

H



STEP1： Install the legs of sofa and woolenmat

A
J

K

M

L

1

YMX-35
Accessories list

1 Seater

Seat frame(1)

A

Backrest(1)

(XL8009)Hardware(2)   6*18 Screw(4) 606#

8*17 Gasket(4)

Sofa foot(4)

8*65 Screw(4) M5*105*55 Wrench(1)

B C D E

K L M N

Seat frame plate(1) Seat cushion(1) Back cushion(1)

F G H I J

M4*100*40 Wrench(1)Soft bag(1)

（F-8944)U FRQQeFtRr(2) 60*60 Woolenmat(4)

O

O



2

STEP3： Inesrt the backrest into the sofa base.

A

B

B

G

HI

STEP2：,nstall backrest hardware.



3

STEP5：&

STEP4：Put the seat frame plate  boarGat the seat frame

ut the compression bag.

STEP6：$ssembly completed

B

C

A

D E

E

D

A

F

F



X1

4

Sofa feet anG hardware, seat cushion ,back cushion, anG sofa bag  are all 
placeG in the seat frame.

X1

D

X1

E
F

A


